N = 0l & AFESE H Ml A
2025 20laH LBHS|IH MOIS3SH 2t
2A: MOtSSSH 3t
S FXX DIgE 25t
ol: FUAXEE 2 (CHl: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
MO SSH 2t 3,120,770 7,857,212 A4,736,442
s 276,000
& 489,513
Al 2,355,257
=0IXEXI D18 23t 117,300 215,920 A98,620
FRXXNEY 2 17,300 89,920 AT2,620
FRAXIME 2 17,300 80,920 263,620
201 LE23H| 7,300 20,800 A13,500
01 At22teld| 7,300 10,800 A3,500
FRXXNY 24 1,000
FOXXIE 2l g9 && Y
30,0002 *35F+63| 6,300
307 212t01 & 10,000 36,000 226,000
02 QIRHBAAMHE R 10,000 0 10,000
FOUNXI O3 FLUXX FH2e U= 10,000
SHE SUIXX 243t 100,000 126,000 226,000
TN &8 SUIRX AIEAR 100,000 100,000 0
307 212t01& 100,000 100,000 0
02 QIRHBAIAHEE R 100,000 100,000 0
FOIAl &8 SUIXIX AIEAH
6,250,000&* 1670 & 100,000
SEMEEAD|EIEE 2,222,3% 7,093,102 A4,870,708
s 276,000
& 383,000
Al 1,563,394
)| ES25UBSIIAS 598, 167 658,782 A60,615
= 90,000
Al 508,167
SYAIE XA 60,000 60,000 0
= 18,000
Al 42,000
307 212t01& 60,000 60,000 0
& 18,000
Al 42,000
02 CIZHEAAIIE X 60,000 60,000 0
S|U0tE ALY 60,000
& 18,000
Al 42,000
FOU=S 0=22HED| XIA(RXISH) (HEAIY) 40,000 40,000 0
307 212t01& 40,000 40,000 0
05 SIZtRAEZ 40,000 40,000
SENYEY 2Y
10,000, 0002 *4 I 2~ 40,000




EA: MOtS3SH 3t
Hu: SEMESA|BIEE
SIPl ADISS3YBISI A (chol m=)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
A £E2 320t 2SI =0t K& 49,500 90,200 240,700
201 L2 3FH| 5,900 1,000 4,900
01 AtR2t2lt| 5,900 1,000 4,900
SEAIE AAE 1,000
HE=FEUSI| 2HAE X2 4,900
202 o4t 3,600 7,200 A3,600
01 =LY 3,600 7,200 A3,600
LEISAMHENEAIY Y SSHELS FX
Glal 100,000 *3H 123 3,600
206 =4I 20,000 20,000
01 =4I 20,000 20,000
JHRE OSO30] 25 25 K& 20,000
207 AIHE| 20,000 62,000 242,000
01 A E4H| 20,000 62,000 242,000
SHAEOSUSIIAIY obHE 889
(AENe-s512) 14,000
SHESUSIIAMY HHIHE =889
(ArEMe-A12) 6,000
SYANsEEHSJNE 29 208,667 168,582 40,085
201 L2 3FH| 1,500 3,000 21,500
01 AtR22lt] 1,500 3,000 21,500
OI=3sHetSIIfIde 29 1,500
307 QI2H0| M 207,167 165,582 41,585
05 BIZtRIES 207,167 165,582 41,585
SHANSEEHSARNEH 29 207,167
SHANSEEHSIKAME 2S(EX) 240,000 300,000 A60,000
& 72,000
Al 168,000
307 SI2t01 & 240,000 300,000 A60,000
= 72,000
Al 168,000
05 BIZtRIES 240,000 300,000 260,000
SZEYSXJAMH(Z2LHNEAZE) 29 240,000
= 72,000
Al 168,000
LEtSAHEINL AL 1,604,227 6,388,320 A4,784,093
s 276,000
= 293,000
Al 1,035,227
ANz 23St 394,000 370,000 24,000
= 276,000
= 35,000
Al 83,000




NO=SSHI
SEMSHAI|UEE
ABS A ENL ALY CEEEN
SA - EHH - SR(E) - HRAI - BES Gl imE=T
307 2I2+0| ™ 394,000 370,000 24,000
s 276,000
= 35,000
Al 83,000
05 RIZI?I& = 394,000 370,000 24,000
2EtsAENE 394,000
s 276,000
= 35,000
Al 83,000
sEMEHZAA(AH]) 164,427 152,440 11,987
307 212t01 ™ 164,427 152,440 11,987
02 QIZHHAAIEE X 164,427 152,440 11,987
SENEHSHAA 164,427
== =28 6,000 6,000
201 Let23| 6,000 6,000 0
01 Al 22| 6,000 6,000
JEHEC 2% 1,500, 0002 %43 6,000
LS A0 ENE A 119,800 33,200 86,600
101 el21d| 4,800 3,200 1,600
04 JIZtH22 XS 2E= 4,800 3,200 1,600
LOSAHENL ALY Ol =
200,000 x2H*22*63] 4,800
201 Let23| 15,000 10,000 5,000
02 S324H| 15,000 10,000 5,000
LESMUENE
(SHMab & 33 15,000
401 AIZHIZL S0 100,000 20,000 80,000
01 Al2H| 100,000 20,000 80,000
LS AHENEA 100,000
g8 Ks2c| Ot 200,000 400,000 A200,000
= 60,000
Al 140,000
207 AR 190,000 110,000 80,000
& 57,000
Al 133,000
01 H7EAH 190,000 110,000 80,000
gXH M2l Ol
|SHA LSt 190,000
= 57,000
Al 133,000
401 AIZHIZ 20| 10,000 290,000 /280,000
= 3,000
Al 7,000




2A: MOtS3SHt
M SEMEHEH|BEE
CHPl LEHSAOIEIN AL (CHo|: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
01 Al&Hl 10,000 290,000 A280,000
2EH H4a2e| 0SS MHEMHEAS 10,000
= 3,000
Al 7,000
Olatet Falel OlEeHED| MHEMMEAS 100,000 200,000 A100,000
& 30,000
Al 70,000
401 Al&HIZ 20| 100,000 46,000 54,000
& 30,000
Al 70,000
01 AlEH| 100,000 46,000 54,000
OlatH Halel OIESeHEDl MEHE AR 100,000
= 30,000
Al 70,000
s 25te| OIS8HED| A ALY 40,000 80,000 A40,000
& 12,000
Al 28,000
207 AN 40,000 40,000 0
& 12,000
Al 28,000
01 A= 4H| 40,000 40,000 0
gEH 2ate| 0IEeHEDl NEHEA
ERESCT 40,000
= 12,000
Al 28,000
= 2222 0SRSI| NESHEAY 100,000 200,000 A100,000
& 30,000
Al 70,000
207 AN 100,000 65,027 34,973
& 30,000
Al 70,000
01 A= 4H| 100,000 65,027 34,973
FuH 2222| O0IEeHEI| HENEAS
NS A 2t 100,000
= 30,000
Al 70,000
FuwH AltH12] OHSRED] XEHEALY 100,000 200,000 A100,000
= 30,000
Al 70,000
207 AFINLH| 100,000 64,035 35,965
& 30,000
Al 70,000
01 A= 4H| 100,000 64,035 35,965




2A: MOtS3SHt
M SEMEHEH|BEE
CHPl LEHSAOIEIN AL (CHo|: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Fwd A1l OHS8ED] NEMNEAL
XA et2st 100,000
= 30,000
Al 70,000
M 2| OISRHED] IEHEA 40,000 80,000 A40,000
& 12,000
Al 28,000
207 AN 40,000 43,089 A3,089
= 12,000
Al 28,000
01 ¢72E4| 40,000 43,089 A3,089
Qe om2| 018
Aek2st 40,000
= 12,000
Al 28,000
72l RE=XNEEd 30,000 0 30,000
401 AlEHIZ2THY| 30,000 30,000
01 AlEH| 30,000 0 30,000
FESFESACEH e 30,000
=M Jiztec| oSt 200,000 0 200,000
= 60,000
Al 140,000
207 AN 70,000 0 70,000
= 21,000
Al 49,000
01 ¢72EL| 70,000 0 70,000
A== Jfsk2el o=
|[HAUe =2 70,000
& 21,000
Al 49,000
401 Al&HIZ 20| 130,000 0 130,000
= 39,000
Al 91,000
01 Al&H| 130,000 0 130,000
H=0 J{sk2el Ot=et 130,000
= 39,000
Al 91,000
ZH AHAXlel 0SS0 80,000 0 80,000
& 24,000
Al 56,000
207 AN 80,000 0 80,000
& 24,000
Al 56,000




SA: MOtESSHI
HE: SEMSE|NEE
SIPl: SlBHsHO{EHE A (cio: x5
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 H7E A 80,000 0 80,000
i ARl 0SS0 AEHEAE R
AL S 80,000
& 24,000
Al 56,000
o CHer AHSAINE 23 8Al 32t &4 30,000 30,000
402 212tXH=01 S 30,000 0 30,000
01 BIZ A= ARG B (KFHITHA) 30,000 0 30,000
S A=A 2dAS2 4
(FeIEA) 30,000
SOE FHUXNS A WA 20,000 22,000 22,000
SOHE FUXS H202 OHEAIY OHIAHE =& 20,000 22,000 22,000
[eZ]
207 AR 20,000 22,000 22,000
01 H7E A 20,000 22,000 22,000
20253 = FHANNS H20A A
GIHIHIR == *a' 20,000
Mots=2s XI& 659,219 391,413 267,806
& 106,513
Al 552,706
MOtses =8 624,019 363,213 260,806
= 106,513
Al 517,506
MOFEXEZX I &stS 12,000 20,000 8,000
= 3,600
Al 8,400
301 Et2AS 12,000 20,000 8,000
= 3,600
Al 8,400
04 Fei=sti=s 12,000 20,000 8,000
MOFEEXIEZA AHE &8ts 12,000
& 3,600
Al 8,400
MOISuw=E =& 9,752 16,254 26,502
= 2,925
Al 6,827
307 2I2t01 ™ 9,752 16,254 26,502
= 2,925
Al 6,827
02 QIZHHAAIEE X 9,752 16,254 26,502
SOIMO2 = (ASISHA) 9,752
< 2,925
Al 6,827
COMOEWE BRI 8,100 8,100 0




ord
K]
OH
[l

-

KIo

Hlw

200
200
200

A3,600
A3,600
A59,458
70,130

253,058

231,000
10,000
10,000

98,588

dEE
Ofl &K

8,100
8,100

5,300
5,300
5,300

303,433
8,000
8,000

295,433

55,000

199,133
41,300

5,000
5,000
5,000

8,100
8,100
8,100
5,500
5,500
5,500
5,500
250,375

4,400
4,400
2,400
2,000
235,975
125,130
11,000
10,000
1,000
5,000
16,000
13,000
48,000

25,500
6,630
100,545
60,304
60,304
40,241
33,921
6,320
10,300
2,500
5,400
1,200
1,200
10,000
10,000
10,000
10,000
5,000
5,000
5,000
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ord
K]
OH
[l

-

KIo

Hlw

240,000
240,000
240,000

5,680
5,680
5,680
5,680
5,680

A600
A600

2600

dEE
Ofl &b oK

50,820
50,820
50,820
10,820

50,057
50,057
50,057
50,057
50,057
4,000
4,000
4,000
4,000
4,000

51,900
51,900
51,900
33,300
22,500
10,800
12,000
12,000

10,820
10,820
10,820
10,820

2,000

8,820
55,737
55,737
55,737
55,737
55,737
55,737

4,000
4,000
4,000
4,000
4,000
4,000
51,300
51,300
51,300
33,300
22,500
22,500

10,800
10,800
12,000
12,000
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A600

2600

6,600
3,000
3,600

12,000
6,000
3,000
3,000
3,000
3,000

1,000,000& 128
250,000+ 122
250,000+ 122




